
Finding times
Solve these problems about Joe Potter’s day out.

1. Joe gets up at 08:30 and takes 45 minutes to eat breakfast, 

wash, brush his teeth and get dressed. The time is now…? 

2. Joe catches the 09:25 bus and gets into town 38 minutes 

later. The time is now...?

3. He meets his friends and they spend 2    hours looking 

around the shops. The time is now...?

4. Joe and his mates then go for lunch. They leave the café        

1 hour 20 minutes later. The time is now…?

5. Next, they go and see a film. It starts at 13:55 and finishes  

95 minutes later. The time is now…?

6. Make up your own ‘treat day’ with timings.



Finding times
Solve these problems about Joe Potter’s day out.

1. Joe gets up at 08:30 and takes 45 minutes to eat breakfast, 

wash, brush his teeth and get dressed. The time is 09:15

2. Joe catches the 09:25 bus and gets into town 38 minutes 

later. The time is now 10:03

3. He meets his friends and they spend 2    hours looking 

around the shops. The time is now 12:18

4. Joe and his mates then go for lunch. They leave the café        

1 hour 20 minutes later. The time is now 13:38

5. Next, they go and see a film. It starts at 13:55 and finishes   

95 minutes later. The time is now 15:30

6. Make up your own ‘treat day’ with timings. Answers will 

vary.


